Aug 24 11:58:30.656: ISDN BR0O/0/1 Q931: Applying typeplan for sw-type Oxl
is 0x0 0x0, Calling num 417660107
*Aug 24 11:58:30.656: ISDN BRO/0/1 Q931: Sending SETUP callref = 0x0023
callID = 0x8031 switch = basic-net3 interface = User
*Aug 24 11:58:30.656: ISDN BRO/0/1 Q931: TX -> SETUP pd = 8 callref =
0x23
Bearer Capability i = 0x8890
Standard = CCITT
Transfer Capability = Unrestricted Digital
Transfer Mode = Circuit
Transfer Rate = 64 kbit/s
Channel ID i = 0x81
Preferred, Bl
Progress Ind i = 0x8183 - Origination address is non-ISDN
Calling Party Number i = 0x0080, '417660107'
Plan:Unknown, Type:Unknown
Called Party Number i = 0x80, '0797203223'
Plan:Unknown, Type:Unknown
*Aug 24 11:58:30.696: ISDN BRO/0/1 Q931: RX <- SETUP ACK pd = 8 callref
= 0xA3
Channel ID i = 0x89
Exclusive, Bl
*Aug 24 11:58:35.700: ISDN BRO/0/1 Q931: RX <- CALL PROC pd = 8 callref
= 0xA3
*Aug 24 11:58:52.112: ISDN BRO/0/1 Q931: RX <- DISCONNECT pd = 8 callref
= 0xA3
Cause i = 0x829F - Normal, unspecified
*Aug 24 11:58:52.116: ISDN BRO/0/1 Q931: TX -> RELEASE pd = 8 callref =
0x23
Cause 1 = 0x809F - Normal, unspecified
*Aug 24 11:58:52.140: ISDN BRO/0/1 Q931: RX <- RELEASE COMP pd = 8
callref = 0xA3
*Aug 24 11:58:52.144: ISDN BRO/1/0 Q931: Applying typeplan for sw-type
O0x1 is 0x0 0x0, Calling num 417660107
*Aug 24 11:58:52.148: ISDN BRO/1/0 Q931: Sending SETUP callref = 0x0024
callID = 0x8032 switch = basic-net3 interface = User
*Aug 24 11:58:52.148: ISDN BRO/1/0 Q931: TX -> SETUP pd = 8 callref =
0x24
Bearer Capability i = 0x8890
Standard = CCITT
Transfer Capability = Unrestricted Digital
Transfer Mode = Circuit
Transfer Rate = 64 kbit/s
Channel ID i = 0x81
Preferred, Bl
Progress Ind 1 = 0x8183 - Origination address is non-ISDN
Calling Party Number i = 0x0080, '417660107'
Plan:Unknown, Type:Unknown
Called Party Number i = 0x80, '0797203223'
Plan:Unknown, Type:Unknown

*Aug 24 11:58:52.184: ISDN BRO/1/0 Q931: RX <- SETUP ACK pd = 8 callref
= 0xA4
Channel ID i1 = 0x89
Exclusive, Bl
*Aug 24 11:58:57.188: ISDN BR0O/1/0 Q931: RX <- CALL PROC pd = 8 «callref

= OxA4
*Aug 24 11:59:03.116: ISDN BRO/1/0 Q931: TX -> DISCONNECT pd = 8 callref
= 0x24

Cause i = 0x8090 - Normal call clearing



*Aug 24 11:59:03.140: ISDN BRO/1/0 Q931: RX <- RELEASE pd = 8 callref =
OxA4

Cause 1 = 0x8290 - Normal call clearing
*Aug 24 11:59:03.140: ISDN BRO/1/0 Q931: TX -> RELEASE COMP pd = 8
callvoice register global

*Aug 24 12:02:59.640: ISDN BRO/0/1 Q931: Applying typeplan for sw-type
Ox1 is 0x0 0x0, Calling num 417660108
*Aug 24 12:02:59.640: ISDN BRO/0/1 Q931: Sending SETUP callref = 0x0025
callID = 0x8033 switch = basic-net3 interface = User
*Aug 24 12:02:59.640: ISDN BRO/0/1 Q931: TX -> SETUP pd = 8 callref =
0x25
Bearer Capability i = 0x8890
Standard = CCITT
Transfer Capability = Unrestricted Digital
Transfer Mode = Circuit
Transfer Rate = 64 kbit/s
Channel ID i = 0x81
Preferred, Bl
Progress Ind i = 0x8183 - Origination address is non-ISDN
Calling Party Number i = 0x0080, '417660108"'
Plan:Unknown, Type:Unknown
Called Party Number i = 0x80, '0797203223'
Plan:Unknown, Type:Unknown
*Aug 24 12:02:59.680: ISDN BRO/0/1 Q931: RX <- SETUP ACK pd = 8 «callref
= 0xA5
Channel ID i = 0x89
Exclusive, Bl
*Aug 24 12:03:04.692: ISDN BRO/0/1 Q931: RX <- CALL PROC pd = 8 «callref
= 0OxAb5sh ca
VGW Manatrade Ol#sh cal
VGW Manatrade 0l#sh cal
*Aug 24 12:03:21.792: ISDN BRO/0/1 Q931: RX <- DISCONNECT pd = 8 callref
= 0xA5
Cause 1 = 0x829F - Normal, unspecified
*Aug 24 12:03:21.792: ISDN BRO/0/1 Q931: TX -> RELEASE pd = 8 callref =
0x25
Cause 1 = 0x809F - Normal, unspecified
*Aug 24 12:03:21.816: ISDN BRO/0/1 Q931: RX <- RELEASE COMP pd = 8
callref = 0xA5
*Aug 24 12:03:21.824: ISDN BRO/1/0 Q931: Applying typeplan for sw-type
O0x1 is 0x0 0x0, Calling num 417660108
*Aug 24 12:03:21.824: ISDN BRO/1/0 Q931: Sending SETUP callref = 0x0026
callID = 0x8034 switch = basic-net3 interface = Use
*Aug 24 12:03:21.824: ISDN BRO/1/0 Q931: TX -> SETUP pd = 8 callref =
0x26
Bearer Capability i = 0x8890
Standard = CCITT
Transfer Capability = Unrestricted Digital
Transfer Mode = Circuit
Transfer Rate 64 kbit/s
Channel ID i = 0x81
Preferred, Bl
Progress Ind i = 0x8183 - Origination address is non-ISDN
Calling Party Number i1 = 0x0080, '417660108"'
Plan:Unknown, Type:Unknown
Called Party Number i = 0x80, '0797203223'
Plan:Unknown, Type:Unknown



*Aug 24 12:03:21.864: ISDN BRO/1/0 Q931: RX <- SETUP ACK pd = 8 callref
= 0xAb6
Channel ID i = 0x89
Exclusive, Bl



